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Answers may be written either in English or in Ma l
layalam.
Part A

E:f;.swer any ten questions. v
Ch question carries 1 mark.

Fhat do you understand by hypothetical population ?

Lt is cluster sampling ?
\ofine Harmonic Mean.

..o (wo properties of Median. ) {\
what do you mean by dispersion ? @
mat is Kurtosis ? }@

t1at is meant by linear correlation ? O

on and regression.

two differences between _cor
ex Number under Marshall Edgeworth Method.

) ate any
v o the formula for constructin b

fhat do you mean by sphc%

%4 out in how many ways-the letters of the word “COUNTRY be re—arranged” ?

tate the multiplication theories of probability when events are independent.
- (10 x 1 = 10 marks
PartB :
Answer any ten questions. -
" Each question carries 4 marks.

of Geometm: Mcan.

tate the merits and demerlts |
tical Organisation.

gxplain the functions of (‘entral Statis
Dmgrams ?

fhat are the limitations of graphs and
nlctwn of cost of hving m(le\ number.

the problems in the const
e of t',!z measure. of D

-_'ﬁt is a time series 7 | me the componen

riefly explain
ispersion.

tate the importanc :
ts of time scries.

i
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Calculate 3 years movin
93 94

Year 1992
Sales

000 5d
Units

Following dat

47 59

a are related wi

Find the Simple Index

Commodities

99 (Rs.)

Price

Price for }

for 2000 (Rs.)

95 96

151 79

Number —
A B
1560 110

170

97

36

98

45

g average from the following data : —
99

72 ga

F

80

th the prices of 7 commodities for the Year

G

10

}-160 100 190 220 90 50 |5

Calculate Standard Dev

Class

Frequency

correct mean.

iation from the following data :—

0—25
13

25—50

12

x €
N\

& \ ‘ra\%

-~

)

»

Find Geometric Mean from theﬁfo{!\aﬁing data :—

y Daily Income
No. of Workers

oL
\:gﬁ} -

7

12

11

8

50—75 75—100

100—125
15

N 20—40 40—60 60—80 80—100

4

0 |
83

19
"

125,

i
17

The Mean of 20 values is 45. If one of[é_ hese values is faken as 64 Insteaq of 8,

| |
The sale of bicycle manufactured by a company for the last eight years are g,

Fit a straight-line trend by the method of least squares.

Year

No. of Units
manufactured

}

1980

12

81

13

82

13

Part C

83

16

Answer any two questions.
Each question carries 15 marks.

25. Calculate Median and mode from the following data :—

Class
0—10
10—20
20—30
30—40
40—50

f

15

11

Class
80—60
60—70
70—80
80—90

90—100

f
. 14

84

19

85

23

86

21
(10 x 4=4
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01 Ly B0 G 13
10 20 1 60-70 .,
2030 g 7080 7
3040 . g9 80--90 3
40--B0 v 1h

(aleulate Karl Pearson's Co-officiont of Correlatio l'km

66O 490 . 270 480 58O 60O

440 356 H0) 240 300 420 HHo

06\\0
&8

the following data :—
Income (Rs) : 230

Expenses (Rs) 200
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